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Kupcanos M.H. Pemeonuk. Teopernueckas mexanuka/Ilon pen. A. M. Kupusanosa.—
M. OU3MATJINUT, 2008.— 384 c. (c.14.)

3amaua 1.1. 10 3agaua 1.2. 10
B P=32 xH, B P=24 kH,
ZACB=60°, 5 LACB=60°,
R| /ABC=30°, A /ABC=30°,
/ZBDC=30°, o) /ZBDC=30°,
/BCD=120°, /BCD=120°,
/CDE=30°, /CDE=45°,
D E ZCED=30°. D E ZCED=60°.
3agaua 1.3. 10 3angaua 1.4. 10
A P P=12 kH, P=22 xH,
/ ACB=60°, / ABD=60°,
/ABC=60°, /ADB=60°,
B c /BDC=60°, B¢ Z/BDC=30°,
/BCD=3°, | | @\ /BCD=60°,
ZCDE=30°, A LCDE=T75°,
D E ZCED=120°. D E /CED=15°.
3apgaua 1.5. 10 3apaua 1.6. _ 10
P=9 kH, P=27 xH,
/ABD=30°, /ACB=45°,
o /ADB=30°, /ABC=45°,
B /BDC=30°, /BDC=30°,
IZW\ /BCD=60°, /BCD=60°,
/CDE=T5°, /CDE=60°,
D E /CED=15°. D E ZCED=60°.
3apmaua 1.7. = 10 3apmaua 1.8. 10
P=16 xH, B P=27 xH,
/ACB=30°, /ABD=45°,
/ABC=60°, ) /ADB=60°,
/ZBDC=60°, P /ZBDC=60°,
/ZBCD=90°, /ZBCD=30°,
/CDE=30°, /CDE=30°,
LCED=60°. D E LCED=120°.
Sapgaua 1.9. 10 Sapgaua 1.10. . 10
B . P=31 kH, B Pya P=14 kH,
A ZACB=60°, LACB=60°,
ZABC=45°, o LABC=45°,
/ /BDC=30°, /BDC=45°,
/BCD=120°, /BCD=90°,
/CDE=45°, /CDE=45°,
D B ZCED=60°. D E LCED=45°.




3ana!ia 1.11.

3angaua 1.12.

10

Py a B P=23 kH, Py P=5 kH,
ZABD=90°, B LACB=90°,
c LADB=45°, ZLABC=60°,
/ZBDC=30°, c /ZBDC=30°,
/BCD=120°, /ZBCD=90°,
ZCDE=60°, /ZCDE=45°,
D E ZCED=60°. D E ZCED=90°.
3apaua 1.13. 10 3apaua 1.14. 10
A P P=13 xH, A P P=16 kH,
5 o ZACB=30°, ZACB=30°,
LABC=60°, B LABC=30°,
/BDC=45°, /ZBDC=60°,
/BCD=45°, /ZBCD=30°,
ZCDE=45°, ZCDE=45°,
D E ZCED=30°. D E LCED=45°.
3amaua 1.15. 10 3amaua 1.16. . 10
A, p P=13 &kH, B Py a P=13 kH,
. ZACB=60°, LACB=60°,
LABC=45°, LABC=60°,
/ZBDC=90°, ¢ /BDC=30°,
B /BCD=30°, /BCD=120°,
/ZCDE=60°, ZCDE=60°,
D E ZCED=60°. D E ZCED=60°.
3anaua 1.17. 10 3agaua 1.18. 10
P=13 &kH, Aoy P P=27 kH,
ZACB=30°, L ACB=45°,
LABC=30°, LABC=45°,
/BDC=30°, B /BDC=60°,
/BCD=60°, /BCD=30°,
ZCDE=30°, /ZCDE=45°,
D /CED=30°. D E /CED=45°.
3apaua 1.19. 10 3apaua 1.20. 10
PYa B P=27 kH, P=8 kH,
ZABD=90°, P B . ZABD=90°,
c LADB=30°, LADB=30°,
/BDC=45°, M /BDC=60°,
/ZBCD=75°, /BCD=30°,
ZCDE=45°, ZCDE=30°,
D E LCED=30°. D E LCED=45°.
3agaua 1.21. 10 3apaua 1.22. 10
PYa 5 P=20 kH, L B P=32 kH,
ZABD=90°, LABD=60°,
. ZADB=30°, /ZADB=45°,
/BDC=60°, c /ZBDC=30°,
/BCD=60°, /BCD=120°,
ZCDE=30°, ZCDE=30°,
D E ZCED=30°. D E /CED=30°.




3amaua 1.23. 10 3apaua 1.24. 10
P=27 kH, Pya P=32 «H,
AP LACB=60°, B C LACB=60°,
ZABC=60°, ZABC=30°,
B@\ /BDC=30°, /BDC=30°,
/BCD=60°, /BCD=60°,
/CDE=T5°, /CDE=60°,
D E ZCED=15°. D E LCED=45°.
3apaua 1.25 10 3apaua 1.26. . 10
P=19 kH, B Pya P=5 kH,
4 ZABD=90°, LACB=45°,
Pya B /ADB=45°, . /ABC=30°,
/BDC=45°, /BDC=60°,
/ZBCD=45°, /BCD=60°,
/CDE=45°, /CDE=30°,
D E ZCED=30°. D E ZCED=30°.
3apmaua 1.27. 10 3apmaua 1.28. . 10
P=26 «H, Pya P=20 kH,
. £ABD=60°, £LACB=90°,
B /ADB=60°, . /ABC=60°,
) £BDC=45°, £BDC=60°,
PN\ /BCD=45°, o /BCD=90°,
A /CDE=60°, /CDE=60°,
D E ZCED=30°. DE ' ZCED=90°.
3amaua 1.29 10 3amaua 1.30. 10
B P=9 kH, P=18 kH,
. /ABD=30°, 5 /ABD=90°,
P c o Py 4 °
) /ADB=4(°, /ADB=60°,
/ZBDC=30°, /BDC=45°,
% /BCD=60°, /BCD=T5°,
/CDE=30°, /CDE=45°,
D E ZCED=60°. ZCED=30°.




